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Read the following passage and answer the questions from 1 to 5 :

Earn from Waste

Children from St. Ursula and St. Andrews schools from Nigdi and Chinchwad
ensured that 539 kg plastic did not land into the waste bins and rivers. Susan Raj, a
social activist, had earlier created awareness by sharing the inmiportance of segregation
and making money from recycling waste. She said, “Let us hope that all the schools start
this small gesture, then the garbage bins will not have any plastic waste. Every bit of the
material that is not useful to us now, is a raw material, which should be recyeled.”

The Lion’s International, PCMC area represented by president Ln. Vivek
Naniwadekar and Treasurer Ln. Prakash Kolpyakwar spoke to children about three
important things to be added to their basket of values — respect for parents, segregating
garbage and helping at least one person to sec the world through their eyes.

Susan Raj from The Academic Advisors (TAA) explained in a simple way how to
identify wet and dry garbage, “All things made by God in the nature goes in wet garbage
and all things made by humans goes into dry garbage. When our waste is mixed, it loses
its value and when it is kept separately, it carns money for us.” Shyamala Desai of
NSCC (National Society for Clean Cities) shared few incidents of segregating waste and
its impact in reducing pollution.

Lalit Rohit of Clean Garbage Management Pvt. Ltd. collected all the plastic and
maintained the record of the collection. St. Andrews school children earned ¥ 3548 while
St. Ursula earned T 784. Rosie Sequeira, Principal of St. Andrews informed that their

SMS information system helped them a great deal to collect plastics as all the parents
are in contact with the school authorities through SMS number.

Sister Sandhya, Principal of St. Ursulu said that they would like to develop
composting pit to educatc children on how to manage wet garbage, Shyamala Desal
assured that she will help both the schools to develop their composting pits.

Ln. Vivek assured that Lion’s volunteers will help schools in co-ordinating this
plastic collection drive. They will cover at least 10 schools in PCMC area. A recycler from

Sonia Gandhi Udyog, Amir Shaikh, explained to the children that he was very glad to
see such large amount of clean plastic collection and he would save lots of water and

directly shred it.

This shredded material is then moulded into various products like pipes which
are used in the buildings and in farms.

Lalit Rohit also informed that this one act of collecting 539 kg. of plastic has
saved much resources. Reuse saves money and recycling earns money.

He said, “¥ 20,000 were added to the net national resources.

Our PCM and PCMC must look into the possibility of getting this model into all
schools and grant them awards.”
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Match the following :

List I List IT
a. Susan Raj I.  Clean gargage management
b.  Lalit Rohit - II. President Lions International PCMC
¢. Sister Sandhya  III. The Academic Advisors
d. Ln. Vivek IV. Principal of St. Ursula
Answer Options :

a b c d
(1) 1I JAY 111 |
2y 1V IT I II1
(3y III I v I
{4) 1 III I v

2. @it faemn s =14
9. e Fofn FHeen d M gen e S
®.  WHYITH i FHem w9 Th gE su=a A,
3.  Ter Fmfv seer g8 M sl se=ara ST

T I W ;
(1) 3 00 &% ;=T (2) 9 anftr g SR
(3) = Tl € sE (4) o aqfr § T

Study the following statements :

a.  All things made by God in nature goes to wet garbage.

b.  All things made by humans goes in dry garbage.

c.  All things made by God in nature goes in dry garbage.

d.  All things made by humans goes in wet garbage.

Answer Options :

(1) aand c are correct (2} b andd are correct
(3) candd are correct (4) aandb are correct
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3. HuU FEIA HH hogl WA ?
q.  FRUHTR e F G HEAT Fh FHodrd.
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‘Td‘hﬁ'iﬂ"l:
(1) %a&d HA (2) ®FEd &
(3) Had 9 o101 (4) 3 amrd

When will garbage bins not have any garbage ?

a.  After segregation of garbage and making money from recycling waste.
b.  When municipality start segregating wet and dry garbage.

c.  When all plastic waste is recycled again and again.

Answer Options :
(1) onlya (2} onlyc
(3) bandc (4) aandb

4.,  gFH A Aew FIU i@ 9r Hivll JiREr ?

(1) @fea Tfea (2) gEE T

(3) I <HTE (4) fods Tl

Who explained the simple way how to identify wet and dry garbage ?
(1} Lalit Rohit (2) Susan Raj

(3) Shyamala Desai (4) Vivek Naniwadekar

5. e TewmEa TEE SREAEE HaU M@ HUETEl HaW SWEEE] vl TavEsHTel
T Hed et ?
(1) efieH
(2) wEEas SMS

(3) YT TH
(4) Tt &9

What was the mode of communication that helped the Principal of St. Andrews to
inform about collection of plastic waste ?

(1) Telephone

(2) SMS on mobile
(3) Letter to parents
(4)  All of the above |
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Read the following passage and answer the questions from 6 to 10:

Some experts have developed a framework in which “empowerment” and “social
inclusion” are closely related but separate concepts. An empowerment is “the
enhancement of assets and capabilities of diverse individuals and groups to engage
influence and hold accountable the institutions which affect them.” Social inclusion is
defined as “the removal of institutional barriers and the enhancement of incentives to
increase the access of diverse individuals and groups to assets and development
opportunities.” The empowerment process, in this case, operates “from below” and
involves agency, as exercised by individuals and groups. Social inclusion, in contrast,
requires systemic change that may be initiated “from above”.

Empowerment emerges from “bottom-up” rather than “top-down”, gender equality
or equity indicates the degree of equivalence in life outcomes for women and men. It
recognizes their different needs and interests and requiring a redistribution of power
and resources.

Empowerment is a bottom-up process i.e. the stakeholders have the first say. This
way of understanding empowerment indicates that development agencies cannot claim
to empower women rather they can provide appropriate external support and
intervention, which may act as catalytic factor in empowering then or enhancing the
process of empowerment. The individual focus of the term empowerment gives a jolt to
major policy programmes of the Indian government which are mostly made at the
central level and imposed at the local level taking no cognizance of the needs and issues
of concern of the local people. Any government intervention can be successful only when
it adopts not a top-down but bottom-up process. The assumption that planners can
identify women’s needs; runs against empowerment objectives that imply that women
themselves formulate and decide what their interests are. Governments can ensure that
their programmes work to support women’s individual empowerment by encouraging
women’s participation, acquisition of skills, decision-making capacity, and control over
resources. Therefore, an inclusive approach whereby the planners working towards an
empowerment approach must develop ways enabling women themselves to critically
review their own situation and participate in creating and shaping the society is

suggested.

Further empowerment should not be understood as a zero sum game wherein
gains of one, leads to the loss of the other, i.e. empowerment of women automatically
results in disempowerment of men. Rather it is to be conceived as a process which leads

to overall empowerment.
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Difference between empowerment and social inclusion is that

a. one relates to asset ownership while the other relates to removing institutional
barriers.

b.  one relates to enhancing capabilities while the other relates to enhancing the
access to assets.

c.  one operates from below, the other operates from top.
Which of the above is/are correct 7

Answer Options :
(1) aonly (2) bonly
(3) conly (4) All a, b, c above

b AAUHTE el ST e ie s W v ?
A, A T TR HTR.
. YEE O YRR 9 AR,

., At T % wrel ‘erarmdy yoreht .

gt 391 ;
(1) = {(2) &
(3) 4« (4) A% HIHE TR

Which is the main limitation in government led empowerment ?
a. Itis inefficient.

b.  Government system is corrupt.

¢. It adopts top-down approach.

Answer Options :

(1} ¢ (2) a

(3} b (4) None of the above
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8. iR Siskea SeTE i st 2

A, HedHIgrE 9. et T

F.  GaciH oA 8. 92 ed Wi

alterdeh! Fr/Eirar fau stiew s/ 2

TaTEt I

(1) =it w4 (2) a3, F A0 &

(8) wFd A AT (4) % 3

What should be the role of government in the process of empowerment ?

a.  supportive b.  facilitative

¢.  enabling ' d.  direct help provider

Which of the above is/are correct ?

Answer Options :

(1) All of the above (2) Onlya, bandc

(3) Onlyaandb (4) Onlyd
9.  WEHIHOT=AT TehoUAdlel e S0 ? , |

3. Tl sl afgeri=n agwm q. @HIYEES Y

F. YA ATCHEE FI0) T  HEgd T T v

T I

(1) 31 oot & (2) 7% (3 #WAIE (4 FFad

What factors constitute emnpowerment ?

a.  women participation in decision making

b.  control over resources

c. acquisition of skills

d.  more representation in the Parliament

Answer Opfions: .

(1) aandb (2) bandc (3) abande (4  All of the above
10.  wfeen gaefeRror snfor vy wapdfer 71 gren fatenymd TrE s

#H. FHIE B A YRR AT

9. Higeme deciieo e e w T

F. WRAdIE gy 9 Raar wE R 96 Sedd U AR 3778,

TgET I

(1) Famfwra (2) FEdd (3) ®F & (4) @, =, F d@)

There is no trade-off between women empowerment and men empowerment

because :

a. empowerment is not a zero sum game.
b.  women empowerment does not disempower men.
¢.  men outnumber women considering male to female ratio in India.

Answer Options : :
(1) aandb (2y Onlyb (3} Onlyc (4) Alla,bandc
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FIvreId geare T 7 EH () p A1 Aok SRR T, T THF AHIAAG
Tl UIHET AW (Al AU=E AR, B, SoUTeNl U STERRHISI STHUNT TEHMTET
m (FEGHH)

(0P = o)

Jereond, egfufiemER W 2:70 g/lem? (g TS UM ST em RN HEier) s
Rt wFaT 11-3 g/em3 AR, o7wta, regfifiasm=ar Th 10-0 cm? SHTAT gohedT™ FEAH
27 TH W, T daeaTd A=A =N JHea™ awquH 113 U0 Wd. & egFsm s
e wadE O qET: cdieAl AMfaE SgHHTd Bl B IEal. HIvcaTdl Jugear
fTereh SEIAT 8 TATSAT AT STV Ul Hd SUTAT (ATeAT e ) HUEiE A
THI VAT AEH FEGHEEET oEad. a1 A1 Hogedredl A@fie Agd  seomrn Hd

FEQAATEAT ThERETE! (u) 3 o8 amam. 1 u = 16605402 x 1027 kg.
(@:%).ﬁmmwzmumﬁmmﬁﬁm27uaa1%.tri§,m‘q”lﬁ=«m
IO T ORI 207 w27-0 u = 767, § FIE! A=Al SIr=aT OIS Jebd T8l i,
(11'3 g/em3)/(2:70 glem3) = 4-19. &1 F M T FoAT=AT THIZhAIT FUT Haild AT 7T

THIE-12 F1 HIETAT FHEATRTAT HEHTG ATbgehIs A Tt I, F1e-12 3 1, C 3@
foifevar=h wga R, (S |,C M FHENwTeAT STURhETE el W i wEr =g s,
FHEAA] FA AHEATHHIAT ARG T e weTd 370l o =i g hafes wwd) @ @
S R FEAH AT ATHEHTE FHEAS A, ,C 3 A0 qegu U 12 u SEeds
Telsh WieH onfir == aeqaE gan 1 u 3.

12 TR 12 g Tdeal oW WO $R RO gere e
(caTefier @10, W[, 3 HY UFA Jae WA ) 1 mol 3 UEE. 1 mol tHHTE g7 3 e
3 fohal 520 el F, AR O O GE a9 TR, S o R o o
1, HorrAT e 8 fohu, s Sfaimg wem revam, 6 N, et geiaa. s e

N, =6-022137 x 1023 particles/mol (1 mol Z=™E T 6022137 x 1023 F7) 3.

1 mol HIEH-12 3V[E I TR 12 9 36, e SFamTe Ged @ IR,
HICAE o 1 mol THHIT HWR A0 &g Faqed =ifim 917, semonsd, 1 mol S
(MM e 55:85 u) § HFAA 55-85 TH (A 1 mol e F&IH 55-85 g/mol
%%ﬁ)at1m01f§|@r(arrfu‘amar@nnzmu)%argmzmﬁn(nﬁwar@nnzmg/mol)aﬁ
%%éaﬁ.w1molmwa-02x1o23wm.a@wm@wwm
aﬁqﬂmmatom=molarmasslNA3ﬁlﬂtﬁW%.
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_ 5585 g/ mol
602 x 1023 atoms/ mol

= 9:28 x 1023 g/atom

vere 4T = (103 kg/m3)
aH 19-30
gifism 18-70
fer 11-30
sl 8-92

1 7-86
Fegfuam 2-70

wafyem 175
oy 1-00
EELl 0-0012

Read the following passage and answer the questions from 11 to 15 ;
DENSITY

A property of any substance is its density p (Greek letter rho), defined as the
amount of mass contained in a unit volume, which we usually express as mass per unit
volume :

sz

For example, aluminum has a density of 2:70 g/cm3, and lead has a density of
11-3 g/em3. Therefore, a piece of aluminum of volume 10-0 em3 has a mass of
27-0 g, whereas an equivalent volume of lead has a mass of 113 g. The difference in
density between aluminum and lead is due, in part, to their different atomic masses. The
atomic mass of an element is the average mass of one atom in a sample of the element
that contains all the element's isotopes, where the relative amounts of isotopes are the
same as the relative amounts found in nature.

The wunit for atomic mass is the atomic mass unit (u), where
1 u = 16605402 x 10-27 kg. The atomic mass of lead is 207 u, and that of aluminum is
27-0 u. However, the ratio of atomic masses, 207 w/27-0 u = 7-67, does not correspond to
the ratio of densities, (11-3 g/em3)/(2-70 glem3) = 4:19. The discrepancy is due to the
difference in atomic separations and atomic arrangements in the crystal structure of

these two substances.
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The mass of a nucleus is measured relative to the mass of the nucleus of the
carbon-12 isotope, often written as ,C. (This isotope of carbon has six protons and six
neutrons. Other carbon isotopes have six protons but different numbers of neutrons.)

Practically all of the mass of an atom is contained within the nucleus. Because the
atomic mass of ,C is defined to be exactly 12 u, the proton and neutron each have a

mass of about 1 u.

One mole {(mol) of a substance is that amount of the substance that contains as
many particles (atoms, molecules, or other particles) as there are atoms in 12 g of the
carbon-12 isotope. One mole of substance A contains the same number of particles as
there are in 1 mol of any other substance B.

Experiments have shown that this number, known as Avogadro’s number, N,, is
N, = 6022137 x 1023 particles/mol.

Avogadro’s number is defined so that 1 mol of carbon-12 atoms has a mass of
exactly 12 g. In general, the mass in 1 mol of any element is the element’s atomic mass
expressed in grams. For example, 1 mol of iron (atomic mass = 55-85 u) has a mass of
55-85 g (we say its molar mass is 5585 g/mol), and 1 mol of lead (atomic mass = 207 u)
has a mass of 207 g (its molar mass is 207 g/mol). Because there are 6:02 x 1023 particles
in 1 mol of any element, the mass per atom for a given element is

M iom = Molar mass/N, A

For example the mass of an Iron atom is,
5585 g/mol
6:02 x 10°% atoms/mol

My, = = 9-28 x 10-23 g/atom

Densities of Various Substances :

Substance Density = (103 kg/m3)
_(_::51'&—"""""m""m""" 19-30

Uranium 18-70

Lead 11-30

Copper 892

Iron 7-86

Aluminum 270

Magnesium 1-75

Water 1-00

Air 0-0012

e e e m e e
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11, Sammﬁzﬁqwawﬁaﬁa@mg@ﬁ AT eI HUMHE Uhd 3144, .
4. N %, IHagH EAE
Wi'd"r IW
(1) & A (2) wR AT (3) BIdH (4) %ad 3
Practically all the mass of an atom is concentrated in its
a. Protons b.  Neutrons ¢. Electrons d. All the above
Answer Options :
(1) Onlya (2) Onlyaandb (3) Onlyc {4} Onlyd
12. @l S faur stew smgd 2
H. 4B THE RIAE oA aEHH g9,
T, p’ R Theh HA1 EMIUATHEY AT
. ‘N’ § Cheh U1 HIemeier ST U0 SequH ot
8. Mole’ & THF B 10 x 10 x 10 meter I HHEE TAFUTEE] ITEE
HTUTT.
ot IW
(1) & anfor g s , (2) & MM g qUT
(3) ¥E FWe (4) W TH
Which of the following statements are true ?
a. A unit ‘4’ is used for mass of any subtance.
b. A unit ‘p’is used to show density.
¢.  Aunit N, is used to show mass of atoms in a mole.
d. ‘Mole’ is a unit used to show the particles in a specific 10 x 10 x 10 meter
volume.
Answer Options :
(1) aandb are correct (2) candd are correct
(3) All are correct (4) All are wrong
13,  SHIHA oM S7d STHTA SR I aeEmRE $0-50 kg, = F9H a9 34
e (3Fg) TS W

(1) @T= et arsaTe HisT 3

(2) HI=T=T M1 AR TEH A

(3) Il TS AN QU Bl

(4) Hi=aTe el A=A JAAd UK 1;9360 TAGTT ITHRNET BEel.

According to densities given in the table, if we prepare two spheres out of Gold and
Copper each of a similar weight of 0-50 kg., then

(1) The Golden sphere will be bigger than copper

(2) The Golden sphere will be smaller than copper

(3) Both the spheres will be of same size

(4) Golden sphere will be exactly 1:;’; times than copper.
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14, “17er @ Feua qdie S et g o ?
# 127W gEEEE C-12°9 A
3. 6022137 x 1023 0 (FHUEAE derare)
. 555-85 70 a9 Fe
2 1 cm? STEREMTT SHUIR SHoeardl ggfe TR )
it I :
(1) SFaATH (2) @S
(3) e 4) Tl A
1 mole is equal to which quantity from the following ?
12 grams of C-12 atoms
6022137 x 1023 atoms (of any material)
¢. 55585 grams of Fe
d. atoms of any material in a volume of 1 cm3.
Answer Options:
(1) aandb (2) bandc
(3) candd (4) danda
15, SIS wen @ gE A et s

(1) e geraf=Et 103 #iet adfid s

(2) e Terate 13 weie e

(3) 1 mol Tefiei sHivraTdl derui=n TR T

(4) UEREN yErEtear aNfvash aegaEsl 103 damdiel C-12 Tegeadies v et gemr.
The Avogadro number is related to

(1) Density of a substance in 103 m

(2) Molecules in one gram of any material

(3) Atomic particles in 1 mol of arlly substance

(4) Atomic mass of a substance in comparison with 103 grams of C-12 atoms.
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ﬁuﬁtﬁn—m@ﬁmw(mﬁam%waﬂqﬁwﬁﬂ!m%ﬁm,gﬁ%ﬁ
ST WA GV A Tugdd AT W A (Seeiier) de
TEUIA. |TERM: S SIS 8 99 Fee d; e i Aie g B 9
(Seretond =meft fhar @eet); W O FE saTedl sRd Iqr. IOl de o wEre
FAIT HlGdd. 8 T IR g daren §UM @gFYEl ST SUEl dEeEl
Tefimes wioa . @ d@ fafae swdten s segar-GeT, O, @ien,
BT, BB, SHYF FeE] YU aveIdiHyd wlgd AN, FE SIS @i stedn
AT HIeATd STEOMAT Mg S0 TSUTHA 3edUa e & 9t idel Jrd.

e deiTH (S I atiforer, WeRl, G StedEavES a9 4 SUITERE e
TG, ot a9 gasht, AR anfor safoer fry v A (s, $R, SR,
FeAfEarsed, heiH, ety T Sated) sereht s,

TyffeheaRe AT Jun weles gl dten U @ afted) IwEi e
TEAW dd & U Yfosusd WA, St gEASfamEh e . 3R 99 ad @ gen
e W AR, fFar g3 Fft swwamrdl & dg/eves smeaEd) 98T FE @
HTTATETE! N TS I AT Ja Iofad HFTEE! aTdrd ... 8l
a1 T Guu AT,

Tafafhea @egER & A disERe 99 HA. & ded SUadT 99 3. gl
fommadl & 0 dww stwEn sl Toaren fvefia gt Ff deaiem e wE
9. | de ATHEE G AT IR S AU Ferg AT GRS e
Ugd ST, Gt dei 1esul HT0 el e WO (W T Fresar) Yg gefia .

AT deTE U HEgwrdl 0 TRV o oAl | wd weda fSRed s
m@%ﬁmﬁwﬁwmaﬁmwﬁmw.ﬁﬁéwﬁm
Ao (qomed ) fEead e o 9 Wem, THS U HE deme
Arfreartie Fen . e waeid ® g g o H, e de @ e
memm,mwﬁmmaﬁ@m
.
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Read the following passage and answer the questions from 16 to 20:

Aromatherapy is the use of essential oils for their therapeutic properties. An
essential oil is a highly odiferous substance found in particular aromatic plants.
The oil usually bears the name of the plant from which it is derived, for example,
jasmine or lavender, though there are a number of exceptions, such as neroli,
which is extracted from orange blossom. The oil is stored as microdroplets in tiny
sacs or glands. According to the species, essential oil is obtained from the flowers,
leaves, stems, roots, fruits or seeds, and sometimes from the whole plant. Certain
barks and woods are a source, yielding gums and resins from which the essential

oil is extracted by distillation.

Essential oils are not greasy like vegetable oils (for example olive, corn, soya).
They are light, volatile and made up of complex mixtures of organic chemicals

(acids, esters, alcohols, aldehydes, ketones, terpenes and phenols).

Every essential oil used in aromatherapy has its own specific healing
properties. Most of the oils are antiseptic to some degree, and will combat
micro-organisms. A number of oils can be used to calm the nervous system, others
reduce inflammation, or ease aches and pains, benefit particular organs and

systems of the body, uplift the spirits — the list could go on and on.

Essential oils are usually diluted and applied to the skin, or inhaled.
However, some schools of aromatherapy advocate taking essential oils internally.
There is considerable controversy surrounding this. Personally, I think it is safer
not to ingest essential oils unless directed by a qualified herbalist or herbal
medical practitioner. External application and inhalation are usually considered
faster and more effective methods of use than ingestion. Mouthwashes or gargles

are also safe, provided they are not swallowed.

An important characteristic of essential oils is that they quickly penetrate the
layers of the skin and enter the bloodstream. They are, therefore, fast-acting. But
the oils are very strong and not generally applied undiluted to the skin. As they
readily dissolve in fatty vegetable oils (not in water), they are conveniently used
in massage oils, creams and lotions. Clinical tests have shown that essential oils

enter the bloodstream more quickly by inhalation than either through the skin or
orally.
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16.  @reiieryshl ivht FEfva heam semavas (s dore da9 ol gifem s 7
(1) Tifafhe (2) aIffem 3g
(3) wfuferd dg (4) dhE aw
Who amongst the following can direct the safer ingestion of essential oil ?
(1) Aroma therapist {2) Untrained herbalist
{3) Trained herbalist (4) Medical practitioner
17. g 5= w=la wlium Feg1 wama deal. .
(1) & Adell S (2) ool wEE
(3) T=Bull el ATd (4) o8 WOATHTS} A9 A
When are the essential oils fast acting ?
(1) Applied externally (2) Inhaled
(3) Gargled (4} Used as mouthwash
18, gl ddd,
(1) o=kl 3THAT (2) oIfER EaE
(3) Tay wEE sEaE (4) TTHRE! AT
Vegetable oils are
(1) Light (2) Volatile
(3) Made up of complex chemicals (4) Greasy
19. SIEWSAAE_ TEUH "ead 9
(1) & fweft s (2) Y&H 49 T
(3)  eft TV (4) =S we THRE
An essential oil is stored as
(1) Tiny sac {2) Microdroplets
(3) Glands (4) All of the above
20. “ud s Far AT g e Yeb FSTeAT AR daell e, 8 A

(1) 7o 93 378

(2) 9of FEEH IR

(3) ord gew e

(4) oy THE ATE

“Al] essential oils are named after their plant of origin” — This statement is
(1} Completely true

(2) Completely false

(3) Partially true

{4) None of the above
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Y@ IATTETET wTEt e 21 o 25 Tyt I AT ;

m(lS%)Wﬁm%Wﬁfﬂwﬁaﬁammwﬁﬁw
T A AL

WSS, wimEE=r (1867) W qfen gfdia wd el Feu Higed! i ROHWRIE
TG B YHIWRIE At (Gel) T Taeiel S7TEd.

FEOHEY (1911) Haroi TG Afog=n SRIgiT Eigd F1eet. @ o-F0 ( jHe 3
HAU[hEeh) YU ST het. i e g T Seey e,

e  TEEEH o-FV § FAUTIGH TS JRIR e

o HE o-FWH FE BAG GEE

B T o-HU GEUTH AR W WA 59 36 TR

frerd © SR FoF RIS NUREE B ki oEm, wiE, ol awiia . wfaee
Eeioh, RUTUTIFI Soldei~q 2 SUEhEHIIad] STaat ST HETHE THHHIT Hiaw.

‘afey . wame R wurf@, fane soEeiE @ S Il e sTHeI S O §5ER
FUEhEHHS TATH Hiel A WS nphgmed fonfda Bdw. wo e g fema T,
e fafay wume faawr anfor h 331 an W srgaiia ufge

e witifyes fasen feg S (1922) Towiden spfasioa Teia guron gefe.

o Tl hgwHI-WIEHl YU HE TGN T goEeA Ffvem smm wumelw afymer e

TThATA.

o IoEgH 8 U fAfTea way qa fifvea we 3t A wehd. W o Sami
TG o YFaun WTETRR G 3Td fahar 18T S1g ehd AT,

o IoEH A1 ATTeA HERReHe iy Sat wivard fhar scafsa s,

Jefam (1932) yomwfza &0, i My el B g SuphgHE SieA Head Ea
F0 A TG STaesTTE TehTIE Sdehe 3.
T AL TH AUFGH FEG W HUInH (e ofr ggi) rEam. ey 2
Fuchgert-ied! TfTea 7m FHeamyy TRYA. Haw@. T o AR @ YRR 3, i ==
HTIEATHES §FIIH 3T FerEH (MP+) B TU i fohal aRed gegieg dem 3T
(Xn~) HeY $TH Eld.
T T R AT IAHGHIEA dled A4 a6 a8 N FEAT hdl Sl HaT B
n=1,2 3 4. e S nfyr @@ #ww: K, L, M, N... %39 3@ S«ywd 39, 50
ST AT AR Fleel-a-g= e 2n2mgaﬁﬁ%xa%€fﬁ3fﬁ
AT, Z, S Aued Wera e qufed, s, sEemEie, A, W swaris
e g, am et e, ﬁl—sﬁgﬁasrm@lu?ﬁfﬁmamﬁ

A

B

Z
HoeqT HIHTATS! Wi / SPACE FOR ROUGH WORK P.T.O.




www.dompsc.com

u12

20

Read the following passage and answer the questions from 21 to 25 ;

According to Dalton’s atomic theory (1803) “Matter is made of indivisible
particles called atoms.”

Sir J.J. Thomson (1867) in his plum pudding model proposed that atoms are
made of negatively charged electrons embedded in a gel of positive charge.

Rutherford (1911) overturned Thomson’s atomic model with his gold foil
experiment. He beamed «-particles (gHe nucleus) on a thin gold foil and

observed :

. Most of the a-particles passed straight through the thin gold foil.

. Some of the a-particles were deflected by some angle.

. A very few u-particles bounced back towards the source.

Conclusions : An atom has a tiny, dense, positively charged core called nucleus.

Negatively charged constituent with negligible mass called electron revolves

around the nucleus at distances in paths called orbits.

Limitations : Electron being moving charged particles should continuously emit

energy, thus keep moving closer to the nucleus and finally drop into it. But this

does not happen. And also distribution of electrons in the defined orbits and their

energies remained unexplained.

Nobel prize winner Neils Bohr (1922} revised Rutherford’s model as follows :

. Though there are many orbits, electrons are confined to only clearly defined
orbits of fixed energies.

» Electrons conld jump between these defined orbits but could not freely
spiral inwards or outwards in intermediate states.

. Electrons must absorb or emit specific amount of energy for transition
between these defined orbits,

J. Chadwick (1932) discovered a neutral particle called neutron present inside

the nucleus along with the proton and having a mass same as that of proton.

Thus an atom consists of a nucleus which contains nucleons i.e. protons and

neutrons, and electrons revolve around it in fixed orbits. This is an electrically

neutral atom which can lose one or more electrons to form cation (M"") or gain

one or more clectrons to form anion (X"7).

As the distance of defined orbit increases from the nucleus, the orbits or shells

are given shell number, n = 1, 2, 3, 4,... and are respectively called K, L, M, N,...

shell. The maximum number of electrons in each shell is given by 2n2, where n is

the shell number.

The atomic number ‘Z’ i.e. the number of protons and the mass number ‘A’ i.e.

the number of nucleons can be represented symbolically as follows :

A
Symbol of the element ‘

Z
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21. wqﬁéwgmﬁaﬁmﬁ@ﬁﬂw.“ﬁmﬁammﬁmaﬁ?ﬁﬁammﬁ”aﬁw
o-h]
¥, golageg e TG .

F. TS e

et o/ fem/ S HTR/sTE.

it 3w

(1) % A (2) o«
(3) wH® (4) = anf =%

One of the observations of Rutherford’s thin gold foil experiment was “some
a-particles got deflected by some angle”. The reason was a-particles

a. came closer to the nucleus.

b. were attracted towards electrons.

c. collided with the electrons.

The correct option/s is are

Answer Options :
(1) Onlya (2) Onlyb
(3) Onlyc (4) bandc

22.  wEUHIET WA S fife wm gien sRicdt qr wEee. mita g A9 o ?
¥, WEEET o-H & GAUT W3 ATIR e,
9. Il - HIE B o= .
F.  PRE 918 BT AR e Wa S fiie 3t .

gt I ;
(1) ®Fd H (2)
(3) wH & (4) ¥, q %

Which of the following observations of Rutherford’s experiment is impossible to
understand scientifically with the plum pudding model ?

a. Most of the a-particles passed straight through the thin gold foil.
b.  Some of the a-particles got deflected by some angle,
c. Avery few a-particles bounced back towards the source.

Answer Options:
(1) Onlya (2) Onlyb
(3) Onlyc (4) a,bandc
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23. WEY qeRiTER. wefiadd wod faum sge sed.
. TN AT HEE ATHTAN HH HGd,
q. VYR AT ST HIHHM FHH 3,
. N AT FeAAT HHRHA A T,
3. STUNE WA SFRAY ARRREN L 3,
gt I
(1) 3f a7ior (2) *anfng
(3) ¥ amfr 3 (4) et SR & TE
Using the scientific logic, predict which of the following statement/s are correct ?
a.  size of the cation is smaller than the corresponding atom
b.  size of the anion is smaller than the corresponding atom
c.  size of the cation is bigger than the corresponding atom
d.  size of the anion is bigger than the corresponding atom
Answer Options :
(1) aandb (2) candd
(3) aandd (4) None of the above
24, 16S%2 wnoEed, M HEEE __ _ Feiwg srEdm.
(1) 2
(2) 6
3) 8
(4) 16
The number of electrons present in the ‘M’ shell of 1 $%2 atom is
(1 2
(2) 6
(3) 8
4) 16
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95.  ‘of e TeHET & e UHNE S Se W Iqesy Y M.

(3_?.3372. ‘3-9778
- 20
. 1034 A [ Ne
I 129 T DN
L. 1279 % oF°
- 24 2@
IV, 10g¢4 s oMg
g IW ;
1y I H - 2y 1 3, =,
II g II S
m 9,3 | I 9,3
IR | AVAR
3) I A,9, %, 8 4) 1 3,9, 8
11 3 II 5
III 49,8 III q
v A, &+ v H,9, %

You may have more than one correct match in Group ‘B’ for each item in Group ‘A’.

Group A Group B

I 10 electrons a. 33Ne

II. .12 protons b. ﬁNaﬁB

ITI. 12 neutrons c. lgF °© _

IV. 10 neutrons d. ?gMg%B

Answer Options :

(1 I a 2y 1 a, ¢
IT d II d
I b,d I b,d
v a,c v

(3) 1 a,bcd 4y T - a,bd
11 d II d
ITI b,d I11
v a,c v ab,c
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YIS SANTETYA TR TLTRA 26 3 30 Tyi<h 37 2 ¢

T Gl I e AT WA 7 e 3 A SR s favars e e
e v qefld aeierl s a9 3o auedie. W unadla e i 3w
SIS F=EamTed qemaqul oich femdl. SuTd asadl Wl uafa A<t @ e
mﬁgaﬁ.mﬁmﬁaﬁ,iﬁq,wmﬁ%ﬂmuﬁﬁﬁmﬁqumm
gRigamss sraefic snftn ot sumai o gefa s Turd e 4. R auiqdt v
ufage!, Zfa e, dae & weeln ada FEH T B IR HhE 9w a9
B IR qwmen B §d $R0 3 ciehdaens adiea W @, gad s fassa
aarETiet fagvEmmEel e TebE T TEaRl B wedl. Feasume arE s
femaTa 1 s aw gnen. Suisered At SR IR STEie TYFel HiEe 3

el autge FE g o foteh wefm Je TeAme Higm wWOTR wERwT
FUH Bl WEEAE SoHal o gyn widfi FasvEhae e wonr=n wafE
HTHAMEES Bf. SATeHt AT IHISEE gas] arean i Jegien Sfade aed guey g,

Read the following passage and answer the questions from 26 to 30 :

India is not the only country to have experienced the dominance of one party. If we
look around the world, we find many other examples of one party dominance. But there
is a crucial difference between these and the Indian experience. In the rest of the cases
dominance of one party was ensured by compromising democracy. In some countries like
China, Cuba and Syria, the constitution permits a single party to rule the country.
Some others like Myanmar, Belarus, Egypt and Eritrea are effectively one party states
due to legal and military measures. Until a few years ago, Mexico, South Korea and
Taiwan were also effectively one party dominant states. What distinguished the
dominance of the Congress Party in India from all these cases was it happened under
democratic conditions. Many parties contested elections in conditions of free and fair
elections and yet the Congress managed to win election after election. This was similar
to the dominance that the African National Congress has enjoyed in South Africa after
the end of apartheid.

In the early years there was a lot of mutual respect between the leaders of the
Congress and those of the opposition. The interim government that ruled the country
after the declaration of Independence and first general election includes opposition
leaders like Dr. Ambedkar and Shyamaprasad Mukherjee in the Cabinet.
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26, W YETSA SEEaTS FHROT HOET ATEE ?

N, ULH desa@ gl 9. FATHEE Ty

F. I §9EE UH T i T

3. O amfor areAw

e T

(1) FE A, 6,6 (2) A F, 85,3 (3 BWAF, 3T (4 B, E T
What are the reasons for the dominance of Congress Party ? .

a. As inheritor of national movement b.  All inclusive nature

c.  Excellent organised party d. Revolutionary Leadership

e. Money and Media

Answer Options:

{1) Onlya,b,c (2) Onlyec,d, e (3) Onlya,ce i4) Onlyb,d, e

27.  a0d IAG HIvCH TAHT gl gaftg 3@ ?

(1) A (3773) (2) W ()

(3) HNH (M) (4) W TS HUE

Which political party is related to the above passage ?

(1) Congress (I) (2)  Congress (O)

(3) Congress (R) (4) Indian National Congress

28, AT FHY/FHYY G :
¥, HEIFER TErT W Uhe TS U8 SHTH g S 7T gEn SR
|, IRl RSN YR, Ueh U EUN oW g anfor sfifzem atea.
F. IR IEEUTHES U Teshd vt aea sl 3 wRd s efeor stfhet are.

gt 9 ;
(1) ®Fd A, & (2) BRI A, &
‘ (3) wad 9, ® 4) 0d ad

Select the correct statement/statements :
a.  Constitution permitted single political party countries are China and Cuba.
b.  On the basis of military reasons, the one party states are Egypt and Eritrea.

¢.  Under democratic conditions, single dominated political party countrles are
India and South Africa.

Answer Options :
(1) Onlya,b {2) Onlya,c
{(3) Onlyb,c (4) Al of the above
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29.

26 A

2. firmra siaga snftn smamsere gt 2 wivren fotd e T 8 2
(1) 2. JreEH — gursaret udf
SIHTSETE &l — YR SHaS
(2) . EEH — USA FIL HET
IHIIETE YEsii — 9 A qret
(3) . AR — @A Fo 9
THTIHIE g — fag agr@w
(4) S T
Dr. Bhimrao Ambedkar and Shyamaprasad Mukherjee were leaders of which
opposition parties ?
(1} Dr. Ambedkar — Socialist Party
Shyamaprasad Mukherjee — Bharatiya Jansangh

(2) Dr. Ambedkar — Scheduled Caste Federation
Shyamaprasad Mukherjee - Bharatiya Janta Party

(3) Dr. Ambedkar — Independent Labour Party
Shyamaprasad Mukherjee — Hindu Mahasabha

{4) None of the above

30.

el IATAHER U 9&fig T SR RO A ?

o, e @
9. R 38

&, HECR T9Ee

. ARSI oT9E

Tt T

(1) ®FI A, 9, F (2) $Fa A, 9, 3
(3) ®Fd 3T, &, § (4) wFAH, H, 3

'What are the reasons of one party dominance, according to the above passage ?

Constitutional Provisions
Military Revolt

Communist Regime

e TP

Failure of Democracy

Answer Options :
(1) Onlya,b,c (2) Onlya,b,d
(3) Onlya,c.d {4) Onlyb,e¢,d
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Yot SARTETEE FTa S 31 F 35 Ty IR e :
Trevardt W€ T Saeh. FEor YETdE AEE e S, ST S Se @ e i
T FE, IS TEdid 1866 TR Seriared I fiey @es Ao, sl et TSR, 6 b
o1 ST T HUETE . e AR FaId! ARSER, e, Sedd! TAEREhrd! TR
THIA el T AN, STAGSHeAl FEATS AE% geeectan JHdn a $3A fere
PTG STAEES S Aig SeE Wi s 1930 =4 JRUR anglevarn Fo sur
HTA. FEHCHR o TR 3 S 2 Al 3 dde HUA™ IFEA &F Wi 3| T
FeamE afdien e N el Teu Siied ST JHevEd . THFWRH TR, efers Ted
e e Wt TR & T A1 AR AU B, GG AT HarRs S99 A e Fal
T U FE FEN e, A1 AR aobdld elewvre sneft, Hifee TeETE, W1 wg Tt
e A HEE A, 22 96 1930 s SR i TP AT e whiegtean fersh
THE d@ 20 — 22 fawf TomE A AT, SOTTE A AIFAIE STl HeATEr i
T B, HRECHT HOEAT 31 HUaEdl Tid| id, @ A AT UidEy A ™
FA@ T SeAqd 9 TEaund a1 Wi fGhel. : ‘
Tifyres  ToreRmma =eoT, W,WWWWWM.W@,W
diarmereh st qhded demETe SRt 3 sEeTde gEmEe e A 8. S 8§l S
w9, Jfie F T IR ¢ IcaEE Se goAmiE| e T, STeRISHIS Ageet i TeaThe
T HU GHH AHAT TS IS AT, FIE WIiAHT=Te] T 91 a1l Al 5 HAeel
HEEl A STAEEEl SEEl ASTETeAl FRHAMS e Wmfae AEmdeA dREs M
Read the following passage and answer the questions from 31 to 35:

After implementing the programme of breaking the Salt Tax Law all through the
month of May, Congress workers undertook the programme of breaking the Forest Laws.
People in the rural areas need three things for livelihood - Land, Cattle and Forest. Under
the British rule, a number of restrictions were imposed after 1866 on the use of forest.
Grazing cattle, cutting of grass and trees was forbidden in the protected forests.
Consequently, firewood, fruit, herbs could be collected by the tribal people only by deceiving
the forest guards. Considering the unrest about the stringent Forest Laws, it was decided
that from July 1930 onwards the programme of Satyagraha would be expanded beyond the
breaking of Salt Tax Laws to breaking the Forest Laws. The Jungle Satyagraha Committee
felt that Sangamner and Akole Talugas of the Ahmednagar district would be favourable
areas for this movement and hence, its main office was opened at Sangamner. The three
leaders of this Satyagraha were Ramkrishnadas Maharaj, Lalji Pendse and Shripad
Shankar Navare. Navare published a pamphlet declaring that they were now moving from
the Sea to the Mountain. Tarkateertha Laxmanshastri Joshi, Shreeniwas Sardesai and
Bhai Sattha also participated and were jailed in this Satyagraha. On 22nd July 1930, on the
day of Ashadhi Ekadashi, Satyagraha was organised in Sangamner and Akole Taluqa
simultaneously at about 20 — 22 places. The Forest Satyagraha had reached the Talugas of
Kopargaon and Rahuri as well. It was a sight to behold when the police reached the villages

of Chandanpuri and Savargaon to arrest those who broke the Law — thousands of people
had gathered to oppose them.
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In Nasik District, Jungle Satyagraha was carried out successfully in Satana, Baglan

and Kalvan Talugas. The chief leaders in Baglan included Dadasaheb Gadre, Mahant
Seetaramshastri and Tarkateertha Laxmanshastri Joshi. Dang is the area of forests. The
Koli and Thakar tribes were also drawn into the Jungle Satyagraha. It became difficult for
the government servants to collect the Forest Grazing Tax from them. They were not
terrified even by the armed police. On 5th August, a Jungle Satyagraha was organised at
Bhilwad in Baglan, wherein thousands of farmers participated. Already distressed by the
world’s Great Depression, farmers extended their support like never before to- the
programme of Satyagraha to break Salt Laws and Forest Laws.

31.

At Ta TN AT AT TedThe AT STECHTE SRR el

o1 G Y wE gl ?

(1) 9 diefamse S 2.

(2)  FrTRugTET Sie FeuTwRi YgAET RV B

(3) EIWER Sy AT TYERREA SIS WIS FTeriehs SN &ld.
(4) wlioIU<ht TR 1AL

Mr. Navare declared that they were now moving from the sea to the mountains.
What does the statement mean ? ‘
(1) He was going on a pilgrimage.

(2) He was undertaking a march on foot from the coastal areas to the mountains.

(3) The centre of Satyagraha was to shift from the sea to the mountain forests.
(4) None of the above.

32.

EIEPIRS T
¥, fueas I S aeamwg At
g I [I. WEd darmurest
% HWH 1. Hi&t T 3
¥, SEEm IV. BRI AT HeUm
it I
A o & 2
1)y 11 I v 111
2y IV 111 1 II
3 1 111 v IT
4y IV 1L 111 I
Match the pairs : .
a. Bhilwad I.  Jungle Satyagraha Samiti
b. Dang II. Mahant Seetaramshastri
c. Sangamner III. Koli and Thakar
d. Baglan IV. Participation of thousands of farmers
Answer Options :
a b c d
(1) 1II I v I11
2 IV IT1 I II
3 1 111 v IT
4) IV 1I 111 I

T FIETATS! ST / SPACE FOR ROUGH WORK



www.dompsc.com

ui2

33.  TdIe UG HIeigshH IaTaidiel AIfediTan wel.
w5, Tiees aoamE
¥ Thomn dewE
F. el oA R FEeE S T,
T, e P GaNUN A .
1) s, 9%, A 2) 8,3, %, 9 (3 A, %,8,9 (4) B, &, AT
Arrange the events chronologically according to the passage.
a. Satyagraha at Bhilwad
b. Salt Satyagraha
¢.  Opening of Jungle Satyagraha Samiti office at Sangamner.
d. Forest Laws were first implemented.
(1) d,b,c,a (2) d,a,c,b (83) a,ec,d,b 4) d,ec,a,b
34. TEUHR wR faem A aie 2
(1) o g fierea SeavRE Mas-arar R iU Bl
(@) e 9 e Segndia Sae=t figren snflt Simer HemwETa TR HaeT.
(3) STk HETHEHT Fah=al IAYE YN TeITE Fesaciia SRR Haw.
(4) o T AT
Which of the following can be considered a correct statement ?
(1) More farmers participated in the Salt Satyagraha than the Jungle Satyagraha.
(2) Farmers from Nasik and Ahmednagar districts participated in the Salt and the
Jungle Satyagraha.
(3) Farmers supported the Satyagraha movement in an unprecedented manner
after the world’s Great Depression.
(4) None of the above.
35. Saame Tt migdee el e faum wa o 97# 7

(1) e "eamie A ge Faied AereTR e 8.

(2) wEAEIE SR ST SRR W e § e e

(3) el wheEiteA feawll w9 SRt SwTieaT T FoaHEE HENT HeT.

(4) <eql, wrawTE, frcas defid aermEET B Al wifser 2,

Which of the following statements can not be made based on the information in the

passage ?

(1) The main office of Jungle Satyagraha Samiti was in Ahmednagar District.

(2 lIJ;axmanshastri Joshi participated in the Jungle Satyagraha and was jailed for
1T.

(3) Koli and Thakar Tribal people participated in the Satyagraha on Ashadhi
Ekadashi.

(4) Thousands of people supported the Satyagrahas at Chandanpuri, Savargaon
and Bhilwad. ‘
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Q&S AT ATER 3NUTHRA 36 T 40 Toi=t Iat = ¢
Tt Tl wrer 1987
FASIT I[rET HAUTTATEAT TerTed S0rATdt f3rem (et 4)

(1) ¥R g 1860 19 FiEE rmeat stad 7l g, TEe sue ad) I e W
SN A AT e e S Hefien Aed hell, W o1 SAfthen 4oy g8, Irue
S 3u reft o g 8 ot 2 SeEer TEiE.

(2) W CERT Fadd Tl TATE W Hhell a S WA Yeds HYe] HIcqedo
TERA HO e Freut fier gsed @ <t Sem SieTwer e,

I AT [eid Bt hedTs o TEaTell TEd HOTHY Fd 30T e A8 ¢

(a) v@mEn ©ff o s fovaen fo=an ga wet et Shaaueh Sevams styet ge Suam,
HYFT AT ATdATSHT T, HYF Ud Gt TEE T HYT I AHE 8 HOAH
O 0. A9 foe ey gefas foufan swEn T smemardt sEdel Trfis
?mwmmwwwqwmwwmm

(b) wEren Sfimy sty fayang s faam i wor 1 e ad swamnges foen, s
fo=an g oeffen stoan wETen ArargERen el AW BN 3T STHeT 9 & @

(¢) v fov@en s Sfien foem ol Srvaren e weT 9 gevearEh S 3w g a5l
STUATE FieaTed 20

(d) wdigsfa fRauEhia am w0 sreen verEn fauden s Sien ad g B
YuaE Wed WO i foen feem g udftem woEU WG STl ATdETsE Hied
TG A, .

(e) WAl FUATEAT TR TSR @ I o ishdd sreel o FEYdi @ERAT wiseT
TR H,

(f) warn fquden syer Sfien, St W@d: o JFEOED UG a9l gt ST
AT W wd o, JAsUd FHiu wxo) wyen fen 9w yeR waE a9
FLOATITET ol

(g) @ STogT=T Tese RETEE) GIefE A i ST, T T AT oA
TE=q HUUATET GTcT U ST T HSHST FHIO .

qeftear eTdevETdt fren (%o 5)
@ FEEIEAT Fed 2b) YH, G TSROl SO ARG IR HOA AU ged Feararel
FTEY Al 7S @ 71 SRE U SvATge ST e’ hegte] Wieied! 3dedt 7l

() @ el s frauEhia anfiel g suEn cIrEH FHRTT §S .

(i) T T FroreErd TR TR O e e wor e e g e,

(iii) et e ST 341 3G FOATEIE FAI S FOL.

(iv) H?ﬂﬁéwwﬁawmﬁawﬁiﬁqﬁwmmaﬁnﬂ,%amﬁ,ﬁ%ﬂ
ST o, s TR AR WU SudT TR RIUEEl S IHWO, S
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Read the following passage and answer the gquestions from 36 to 40 :

The Commission of Sati (Prevention) Act 1987

Punishment for Abetment of Sati (Sec 4) :

(1)

(2)

Notwithstanding anything contained in The Indian Penal Code, 1860, if any
person commits sati, whoever abets the commission of such sati, either directly
or indirectly, shall be punishable with death or imprisonment for life and shall
also be liable to fine. :
If any person attempts to commit sati, whoever abets such attempt either
directly or indirectly, shall be punishable with imprisonment for life and shall
also be liable to fine,

The following act shall also be deemed to be an abetment for the purpose of this Section :

(a)

(b)

(c)
(d)

(e)
§9)
(g)

any inducement to a widow or woman to get her burnt or buried alive along
with the body of her deceased husband or with any other relative or with any
article, object or thing associated with the husband or with such relative,
irrespective of whether she is in a fit state of mind or is labouring under a state
of intoxication or stupefaction or other cause impeding the exercise of her free
will;

making a widow or woman believe that the commission of sati would result in
some spiritual benefit to her deceased husband or relative or the general
well-being of the family;

encouraging a widow or a woman to remain fixed in her resolve to commit sati
and thus instigating her to commit sati;

participating in any procession in connection with the commission of sati or
aiding the widow or woman in her decision to commit sati by taking her along
with the body of her deceased husband or relative to the cremation or burial
ground; '

being present at the place where sati committed as an active participant to
such commission or to any ceremony connected with it;

preventing or obstructing the widow or woman from saving herself from being
burnt or buried alive; '

obstructing or interfering with, the Police in the discharge of its duties of
taking any steps to prevent the commission of sati.

Punishment for glorification of Sati (Sec. 5) :

As per Section 2(b} of the Act, glorification in relation to sati; whether such sati was
committed before or after the commencement of this Act, includes, among other things :

(1)
(ii) -
(iii)
(iv)

the observance of any ceremony or the taking out of ‘a procession in connection
with the commission of sati; or

supporting, justifying or propagating the practice of sati in any manner; or
arranging of any function to eulogize the person who has committed sati; or
creation of a trust, or the collection of funds, or the construction of a temple or
other structure or the carrying on of any form of worship or the performance of

any ceremony there with a view to perpetuate the honour of, or to preserve the
memory of a person who has committed sati.
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32 A
Tt Gﬂmﬁw A& AYET st Tean uad s qdei O FEErEet S gt 7
(1) wWRd g8 faum, 1860 (2 udft (afEs) FEE, 1987
(3) wiagrl yisFn e, 1973 (4r et Y =4

Under which Act, a person who abets, either directly or indirectly {0 commit sati,
will be punished ?

(1) Indian Penal Code, 1860

{2) The Commission of Sati (Prevention Act. (887

(3) Criminal Procedure Code, 1973

(4) Al of the above

37.

wreflerdehl BT} e Tl s e 1987 =541 sfaa W o e 0

H. fayaw @l ST w5 =,

. ﬁ?ﬁﬁﬂ?ﬁw.whmmwﬁ.

. HdreA gauTdre Sioerd) g e g

3. (e Siex Svarer HemTEy o A SEE R TR0 e we e g
gt 3

(1) 21 Fad (2) A 3 3 3y e e et e 1 afimad

Which of the following acts are punishable under the previsions of “The Commission
of Sati (Preventionj Act 1987 ?

a. Instigating a widow to commit sati

b.  Aiding the widow in her decision to cormit sati

¢.  Participating in any proceszion in comection of sali.

d.  Preventing the widew from saving herself from being burnt alive.

Answer Options :

(1) aonly {2) aandd (317 a,bandd (4:  All of the above

38.

ol (wlody) FEEEER QAR B Fe O AE TR G AN WEE O

RS AT 2

H. Gl A= ST TGS Yae oAl el FET ASUET S,

4. O T AEeT He el IRfeu R #hET wawim 9,
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g o soaren famm fagad age T TevE fae tRem g (dicansa)

Tt W .

(1) o &4 (2) oMt g (3) T Ad o) ah@ieR wddl A

Under the provisions of The Commission of Saul (Preventiont Act. which of the

following acts shall be deemed to be an abetment of sati ?

a. obstructing the Police, taking any steps to prevent the commission of sati,

b.  being present at the place where sati is committed az an active participant.

c. making a widow believe that her commission of sati will give spiritual benefit
to her deceased husbhand. _

d. encouraging a widow to remain fixed in her resolve to commir satt.

Answer Cptions :

(1) aonly (2) candd (3) All of the above  (4) None of the above
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39. wdl wfiey FTEeT 1987 T ST BV FOATES “Hr g Fr” wern fuen wifiraed
e ?
(1) hetH 2(b)
(2) wHaH b
(3) heH 4

(4) =Ed<h THIT T8

Under which of the Section of The Commission of Sati (Prevention) Act 1987, is
punishment for glorification of sati prescribed ?

(1) Section 2(b)

(2) Section 5

(3) Section 4

(4) None of the above

40. Tt (wfoEw) wwEEr, 1987 =1 weuid IEe faemme fomm & |

IETRATHLOT T8,

q. o Toiedr SRl I Faq SRl 3T ol SOy HER STeu TEut |t 99
IR AR,

(1) o afen F gl

(@) ‘of A & A W

(3) ‘& T il T =t

(4) ‘o s anfor ‘S gF

Think about the following statements in relation to The Commission of Sati

(Prevention) Act, 1987.

a.  Arranging of any function to eulogize the person who has committed sati is not
a glorification of sati system.

b.  Constitution of temple in order to preserve the memory of a person who has
committed sati is a glorification of sati system.

{1) Both‘a’ and ‘b’ are wrong
(2) Both ‘a’ and ‘b’ are correct
(3} ‘a’is wrong and ‘b’ is correct

(4) ‘a’iscorrect and ‘b’ is wrong
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Read the given passage carefully and answer the Questions No. 46 to 50 on the
basis of the contents of the passage :

Language is transmitted culturally; that is, it is learned. To a lesser extent it is
taught, when parents, for example, deliberately encourage their children to talk and to
respond to talk, correct their mistakes, and enlarge their vocabulary. But it must be
emphasized that children very largely acquire their first language by “grammar
construction” from exposure to a random collection of utterances that they encounter.
What is classed as language teaching in school either relates to second-language
acquisition or, insofar as it concerns the pupils’ first language, is in the main directed at
reading and writing, the study of literature, formal grammar, and alleged standards of
correctness, which may not be those of all the pupils’ regional or social dialects. All of
what goes under the title of language teaching at school presupposes and relies on the
prior knowledge of a first language in its basic vocabulary and essential structure,
acquired before school age.

If language is transmitted as part of culture, it is no less true that culture as a
whole is transmitted very largely through language, insofar as it is explicitly taught.
The fact that humankind has a history in the sense that animals do not is entirely the
result of language. So far as researchers can tell, animals learn through spontaneous
imitation or through imitation taught by other animals. This does not exclude the
performance of quite complex and substantial pieces of acculturation, but the
importance of the linguistic manifestations of social status and of social hierarchies is
not lost on aspirants for personal advancement in stratified societies. The deliberate
cultivation of an appropriate dialect, in its lexical, grammatical, and phonological
features, has been the self-imposed task of many persons wishing “to better themselves”
and the butt of unkind ridicule on the part of persons already feeling themselves secure
in their social status or unwilling to attempt any change in it. Much of the comedy in
George Bernard Shaw’s Pygmalion (first performed in 1913, with subsequent film
adaptations) turns on Eliza Doolittle’s need to unlearn her native Cockney if she is to
rise in the social scale. Culturally and subculturally determined taboos play a part in all
this, and persons desirous of moving up or down in the social scale have to learn what
words to use and what words to avoid if they are to be accepted and to “belong” in their
new position. !

, The same considerations apply to changing one’s language as to changing one’s
dialect. Language changing is harder for the individual and is generally a rarer
occurrence, but it is likely to be widespread in any mass immigration movement. In the
19th and early 20th centuries, the eagerness with which immigrants and the children of
immigrants from continental Europe living in the United States learned apd insisted on
speaking English is an illustration of their realization that English was the linguistic
badge of full membership in their new homeland at the time when the country was
proud to consider itself the melting pot in which people of diverse linguistic and .cultural
origins would become citizens of a unified community. A reverse movement,_typu:'ally by
third-generation immigrants, manifests a concern to be in contact again with the

ancestral language.
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46. Choose the best option/s :

Children largely acquire their first language

a. by learning words.

b. inthe classroom.

¢.  because of their parents’ encouragement.

d.  through the exposure they get to different langnage utterances.

Answer Options:

(1) aandb (2} candd (3) d 4) b
47.  Choose the correct options :

People in the higher society laughedat _

(1) people who do not want any change in their language.

(2) people who try to better themselves by appropriating their language in its

phonological, grammatical and vocabulary features.

(3) people who feel secured in their social status.

(4) None of the above
48. Choose the correct option/s :

Eliza Doolittle’s example is given to explain

a. the meaning of taboos.

b. how comedy is woven around her.

c. how language plays an important role in moving up and down in the social scale.

d. how good language is necessary to be accepted in higher society.

Answer Options :

(1) aandec (2) bandc (3) banda (4 candd
49;  Match the following :

A B

a. Cockney I.  Prohibited words

b.  Acculturation II. Clearly seen

¢.  Hierarchies III. Dialect

d. Taboos IV. System of levels

e, Manifestation V  Mixing of cultures

Answer Options :

a b c d e

{1y 1II 1% v I 1|

(2) 1 I I\Y \Y I11

(3 IV A% It 11 I

(4) 1I i \Y I 1T
50.

Which of the given statements are true in the context of the passage ?
. Animals learn through imitation but not human beings.

. Language does not reftect culture.

We have history because of language only.

. People learn standard language in the hope that they can go up in the social scale.
Immigrants in U.S. did not learn English.

. Third generation immigrants want to be in touch with their forefather’s language.
Answer Options :

(1) e¢,dandf (2)

o o0 TR

b,cand d {(3) a,dande {(4) e, dande
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TERTSITHTE! HRFA G UE Wi 3oty oTR. e 50 felt (9f am) sdeen veAnE oA
WITH ST MEH ‘Ax’ & ¥HF 100 fHiaT staeiean By @1 woHeay digrvardd) qaest
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IucTey et wreadt fae.

(1) 20 fufe (2) 19 fufre (3) 21 ke (4) 15 e

Only a single railway track is available for trains in Konkan area. A train travelling
with uniform speed of 50 km per hr. leaves station ‘Ax’ at 7.40 am to reach the
station ‘By’, which is situated at a distance of 100 km from ‘Ax’. At 8.10 am a train
travelling with uniform speed of 40 km per hr. leaves station ‘By’ to reach the
station ‘Ax’. The Traftic Controller noticed this situation at 8.40 am. Select the time
duration that the controller has mathematically, for making decision, for avoiding

collision between these two trains.

{1) 20 minutes (2) 19 minutes {(3) 21 minutes (4) 15 minutes

52.

S TR, “ft SomrgRn STeaTEE 6 ANt B wATE 6 U2 WiEAn 7 @i B aure
7 v fuedelt @t mTen @A @@l 14 9T fHesd. @ STENMRE 5 9Nt SO His a9
Zrgav oty fagr.”

(1) 8pau ©(2) 8@y
(3) 95ad (4) 9099

Jaya says, “When I add 6 times my age 6 years from now to 7 times my age 7 years

from now, I get 14 times my current age. Select the option that indicates my age,

after 5 years from now.”
(1) 85 years (2) 80 years

(3) 95 years (4) 90 years
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A B,C,D,K, L, MdO 2 auush X, Yd Z 31 F7 1 HEITA FIH FH. d A,
wEd ™ & At SIS Ferr A1 d &G 3 HIH AT, RIeTE] ThT SET Rua
it a1 A e oueh S hid TTE S U TR ATy faeien e suachl S
@ M. K 31 Segiiid Tl O B et mad e Y a1 §9d S i A9
M R THHE SE I a0 wrEd e e o Y a1 SR sW wd [eid. C R
aviiys 7 I e, 9WaNd, W% D MEd faerd weed snaeie 19wl Low
TN HXar MM A 10 ) o1 eI FIW Hd L O 7 Bl §a HW wA
. “orer wEda/aRTa R uhal Hegsh @Al S| wIW Har?” e I U
i faey. .
(1) Zaram & (2) Z3Xg=g
(3) Y3 X3 (4) wHX
A, B, C D, K L M and O are researchers and are working in three different
institutes, X, Y and Z. They are working in three different areas namely, solar
energy, sustainable development, and rainwater harvesting for agricultural purpose.
Not less than two or more than three researchers are working in the same area and
not more than three of them are working the same institute. K is researching in the
sustainable development in the institute Y with B who is doing research in
rainwater harvesting. A and M are doing research in the same area but not in
sustainable development and are not working in the institute Y. C is researching in
solar energy in the institute Z only, with D who is working in sustainable
development. L is researching in rainwater harvesting area and not working in the
institute where A works. O is not doing research in the solar energy.
Choose option for answering question, “In which of the institute/institutes at least
one researcher is working in the area of solar energy ?

(1) All expect Z (2) BothZand X
(3) BothYandX (4) OnlyX

54.

Hiq=A1 AR A, B, C, DT E A JEIEIA1 SEUTT i o SRafeeen AR, gaeA
i Hivrag aETEdaET e w6 GadmmTiaET Thel I B UHEE 9 AT

M AT T . S gEdTa el A99 Siae sgran, # e A, eren qwiel gead
Terelt femromae shtar Aser 2

g

(1) gt Tl (2) TH (3) A (4) =

A rqad map connecting to the colonies A, B, C, D and E is shown in the figure below.
Design the route starting from any colony of your choice so that you will have to
wak on each of the seven routes once and only once. The starting point and the end
pr21“nt may not be the same. From how many points, can such route be started ?

{ g

(1) None (2) One (3) Two {4) 'Three

&eed] HIHTATS! SR / SPACE FOR ROUGH WORK P.T.O.



www.dompsc.com

U12

55.

40 A
mmmﬁmmmmmmmmmﬁm

f N
) v -

A A Al ;T _
(1) R-\ (2) "\\.‘/ H 3 ".K.\S 4 ! w
. A PN W,

Study the boxes of images carefully and choose appropriate option to replace the
question mark.

7{:7:’! £
(2) < (3) ,(F\\ ! 4y '™
E\ | | e b

56.

 areft =1 METE W S0 AT TaeuTE WO STER e ST Y, el Hifor aeh @
T TEEE Yo et o, wd Mo fgunfl wewih Sreceh R, wieht 9 Jef @t
31 Rrrfi, deft 9 areft 20 faft, Aeht 9 ureht 22 fedt, Jef A F=h 16 faht, Jeht & Ach 18 e
o el 9 Aeht 26 forft o T onRa. od wEET B 2o Tl WA el e
AT foFAm 3 fordft el faan

(1) 84 (2) 95 3y 97 (4) 83

I live in a village Pali and I want to visit my therapy clients living in nearby villages
Neli, Teli and Seli. All villages are connected by two-way routes. The length of the
route from Pali to Neli is 31 km, from Teli to Pali is 20 km, from Seli to Pali is
22 km, from Neli to Teli is 16 km, from Teli to Seli 18 km, and from Seli to Neli is
26 km long. Select the minimum distance, in km, that I require to cover to visit my

clients and return to Pali.
(1) 84 2y 95 {3y 97 (4) 83
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A,
EP
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s.

e fufag e Rfifdart Biesn wavm e suRiE T st
a0 fergiet A Rferionor sfshan Hiesn ST S IETEA .
FIIHRI SHTCYTI T STUHEA THE Gg Thd.

T Tty et fagmis smured gatd sk s fae.

o I

(1) Sosay arve Fmin Foelt St fafay e TEueng Wz

(2)  STHAT TS AT S HUFH & AT T I,

(3) FRER FAH HGEUTH HAl Id SUCANS WGTU HHET THE FSYAE G g
TS JHIIT Sl [eaavare S g1 S 93t 38,

(4) mmwmﬁﬁmﬁmmmmm

Ffid e o= vl T,

Examine the following statements :

a.

b.
c.

d.

Production of various forms of energy requires bio-fossil fuels in large
quantities.

Atomic fission or fusion processes produce large amount of energy.
Atomic energy reduces pollution remarkably as it doesn’t use bio-fossil fuels.

Problem of atomic waste can be managed tactfully.

Select the option that is most appropriate inference based on above statements.

Answer Options :

(1)
(2)
(3

(4)

Energy produced using bio-fuels contribute towards pollution of various types.
Atomic energy is the better option as it doesn’t require bio-fuels.

Since waste can be managed tactfully, atomic energy is a better option to

produce energy by avoiding aggravation of pollution and consumption of bio-
fuels.

There is no better way other than producing atomic energy in large quantities
for managing scarcity of fossil fuels and shortage of energy.
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A

THT T Mg T Feedie o @@ gaae T 9. @ v Treneeers aiiaive
AT AHCAR TEEed Al & FIA I YShied aEe] 3R,

e TraeaaTe TTetEw wTEA B T el SEE 1 AT Sl el
e 1 AT TR .. B HES AT B,

et faumrE oot s watq g sty feer,

(1) =1 Woaumva Temmer e fien newm o

(2) T-grfdss g1 Heear=n Y A

(3) T8 viEgmETd) U IU 0 HEwET IR

(4) TETRA YeoAHat F Bid Jremsl ST 6 Tl

It has been suggested that long-term prisoners, on release from jail, be given a
reasonable state pension to reduce the likelihood of their resorting to crime. Most
people instinctively reject the suggestion as they feel it would be like rewarding
criminal activity.

The supporters of the prisoners’ pension scheme have criticized those who reject this

possibility, by claiming that for the critics ...

Select the most logical option for completing above sentence.

(1) punishment for criminals is more important than crime prevention.
(2) crime prevention is not an important issue,

(3) long-term solution for preventing crime is important.

(4) the law should not be concerned with what happens after jail.

59.

xwm%n?ﬂmaﬁ§+§—4mmﬂ%n§abﬁ4mmaﬁuﬁmmm%?ﬁﬁw.

(1y 3 (2) 4

(3) 5 (4) 6 \

. X
Select the option for which the value of x, for the expression Ve +

natural number that is between 0 to 4.

1y 3 (2) 4

— 4 is a

bo |

3y 5 4) 6
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e g sifawr anfir iy sawaEdl SEeedr Gad Gl fETee IWa AR,
At T e 3 sfar R 40 anfit 60 T Iatam. S de wHiwE
3 YR IO d9edE d@d AGE 1 gEd Iaw. T owa T8e W TR 3aus

(1) 100 (2) 80 (3 40 (4) 60

Asifa and Ajita are in a hurry so they are climbing down the constantly moving down
escalator. Asifa and Ajita take 40 and 60 steps to reach the floor respectively. While
Ajita takes 3 steps, Asifa takes 1 step in the same time. Select the number that
indicates the total steps each one is required to climb down if the escalator is not
moving.

(1) 100 (2) 80 (3) 40 (4) 60

61.

e foctn stfiefy samgm swftfaa ws s i, Tl 9 ek am: e
HIET AT 3 & Rgien sifierhiqy wit fam < veam,

po nayot means She eats everything.

su ?yot means You will eat.

ki ?yotna means I will eat nothing

leyot rah yotle su means Are you eating a lot or a little ?

?nafor ak means demand everything ?

“Will she eat a lot ?” 8 I7 9 a4 ORI Fta faa,

(1) po lyotle (2) ?leyot po

(3) ?Zyotle po (4) po ?leyot

Study following expressions and recognise the structure of the unfamiliar language.
Use two assumptions that : there are no exceptions to the rule and only those rules
apply which may be derived from given expressions.

po nayot means She eats everything.

su ?yot means You will eat.

ki ?yotna means I will eat nothing

leyot rah yotle su means Are you eating a lot or a little ?
"nafor ak means Demand everything.

Select the option that expresses “Will she eat a lot ?” in this language.

(1} po yotle (2) ?leyot po (3) ?yotle po (4) po ?leyot

Hoey] PTHRITS! AR / SPACE FOR ROUGH WORK P.T.O.
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A (a) I (b) A1 TS IR V=g o1 WeaEE WS Fae.

7541 SNy S WHES WHOTE (a) | T U ST aEe =TeaE
i F Amiys fmat (b) ITRN FOAEIES! I9Gh T{UH @I A w A
WY A B A s e Feren s s qien S wmE sead
AT T AR,

(1) gfite a faamem Tm (2) J=fife T freraef
(3) anfofes q Ty (4) onfde T Twamr

Select the appropriate pair of words or group of words to fill places (a) and
(b) respectively.

Although considerable (a) resources had already been expended
on the new drug, development had to be halted due to adverse effects during human
testing; once hailed as a kind of {(b) that could be used to treat

numerous physical and mental aliments, the drug will likely be remembered only as
a financial albatross that bankrupted its developers.

(1) wholesome and sinecure (2) wholesome and mendicant

(3) pecuniary and mendicant (4) pecuniary and panacea

63.

Jhcard TR Yseiedl TOHESe Fasued TR IUEARAT TR 972 Wd ettt frmereat
S et o0 e fvwner gl 52, 78 omfr 102 e amed. o
Hifedre weata wey faum faen.

(1) =iorarE frsed FevamEyE i o7l e,

(2) fSrdrean sigauen qest s 132 ud s fuesteft,

(3) U IHGEANTER 200 7 e,

4) e sigamen 301 w4 e,

In a recent election for Sarpanch, a total or 972 votes were cast for the four
candidates, the winner exceeding his opponents by 52, 78 and 102 votes,
respectively. Select the true statement with respect to given information.

(1} Data is inadequate for deriving any conclusion.

(2) Winning candidate got 132 more votes in all.

(3) One of the candidates did get 200 votes.

(4) Winning candidate did get 301 votes.
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5 ui2

TS foream IR AAESHT Yo ME W el st @i ger e e e ade s
fort e aTqtEed e THN WG Fifae do8l oI IEE TGN hd, A
wierre |l T WIS grEAE! Togd! S AT B d A 4 srEdld @ A
IR ASTT SHGFURT THTEN [HTel.

AT 111 |
O O e
1 e @ e (3) La (4)
Sateja took her four grandchildren for a car ride and they visited six junctions. When
she asked each of them to draw road maps that they used during their ride, they
produced the following maps though all did not show exact relative positions of road

connections. If only three maps are correct, then select the map with incorrect
connections.

R T -
o ‘y\’l @ (3) C‘.\)

Ko

(4)

65.

& ST TASE Sl AHRS TR Wigd W YIRH! JOM 2N FEA o Wiadt a8
fereneff TeaEEl FER TR, TAFAU AT Foeh Usheh! STS[eN SWN 3R, Hrien & amat
q forreRarea qoam awelt onR. seper $Hiean wreiehgn gER T wEe AR, AH & e
AT T ST Sl sah! v watg fas.
(1) wfiren (2) =%
(3) (4 T

Two isosceles trapeziums shaped desks are joined so as to form a regular hexagonal
table top and six students are sitting around it for a group discussion. Each one is
occupying only one side of the table. Camila is sitting in between Arya and Pinak.
Banku is sitting two places to the left of Eni. Nanu is sitting two places to the right
of Pinak. Arya is not sitting next to Camila.

Select the option that indicates the person sitting opposite to Arya.
(1) Camila (2) Banku
(3) Eni (4) Nanu
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A

TA$ BT 3 AT BT OIS 3R; A @B 34 A€ B wrnt g A 4 B w1 Y A E
Bl goift oimg ool A * BaT 91 AR B 9l oTed, W W, Td Q & Weg a5ey=
ZyiEoT FEEE a2

(1) PEQSW*T#U (2) P@W$Q*T#U
(3) P@QST#U*W (4) P@Q$TH#W*U

If A $ B means A is the brother of B; A @ B means A is the wife of B; A # B means A
is the daughter of B and A * B means A 1s the father of B, then select the relation
chain that indicates W, T and Q are siblings.

(1) P@Q$W*T#U (2) P@WS$Q*T#U
3) P@Q$TH#U*W (4) P@Q$T#W*U

67.

o R amfer caren st frsed g2 foet amed. wend fosad srwaen vl faer
faem -

74 B2 X 378d. 94 X & G 8. i G & T o7&q.

foreens

¥, FE BT mwa.

g,  HE T2 X 8.

%. @4 B® G 3mzd.

s - wE TE G 3med.

Wﬂ‘i‘d}ﬁi:

(1) *arfne (2) 31 anfor
(3) = anfor = (4) 3 70

Three statements and conclusions based on these are given below. Select the option
with valid conclusion/s.

Statements :

All Bs are Xs. All Xs are Gs. Some Gs are Ts.

Conclusions :

a. Some Bs are Ts.
b Some Ts are Xs.
c. AllBs are Gs.
d

Some Ts are Gs.

Answer Options:
(1) candd (2) aandb
(3) bandc (4) aandd
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T TGRS HE AR AT, e 1S fSwhard W vEET ATed. g e
TIy6 TTithT wd ek SuhaTel HTTRA. TG ETH HIIihl SedehIet U @ U STRq fhar fauek
(1) 10 (2y 12
{(3) 13 4y 19

In an aquarium there are certain number of fishes. Of these eight are spotted and
thirteen are striped. Of the five golden fishes in the aquarium all have only spots. Of
the seven pink fishes each one only has either stripes or spots. Select the minimum
possible number of fishes in the aquarium,

{1y 10 (2 12
{3y 13 (4) 19

69,

T WEAT F WUS U WU RN dedredl fovg N TR YR WiETen aw@
AT UHAS=AT SIS TS deATdie 12 3778 aTe SFTaTd. 31 SISl U o anl A
T ATIEA T FHh ool 8. 1 TEE Uk 9ql JEAyHm 351 U e, X M
1 FEEE GEaTq Fal 1 TR U= SIS 3¢ ARl TN SR o el SsEEd
IE) ARl T AN AT ST IaA, TIAT GSTEEA dl gER e Iardl v qrm
IS 4R TE,

T A GE SUSHET IS91 WS R hefl oMM siwmemfufieen = I aRe
AieE T dl T ST STSE FEE a1 g¥au vt fraer,

(1) 6 (2) 2
3) 8 (4) 4
There are two huts of two brothers each on the opposites sides of a medium sized
pond. Each brother has to use 12 stones in the pond to visit each other’s hut by
crossing the pond. These stones are numbered serially using numbers one to twelve.
A dragon fly is jumping on these stones as follows; every minute it jumps to the fifth

stone from where it started. Thus if it jumps from the fourth stone it would go to the
ninth stone, from the ninth stone it would go to the second stone and so on.

Select the option that indicates the number of stones on which this dragon fly would

be resting if it stops jumping at the 36" minute if it starts jumping from the stone
that is numbered two.

(1) 6 (2) 2
3) 8 (4) 4
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S, =4, {6, anfvn famn et avteiEwTaTE T Yeae s, @ mreadd THTE .
I HA d HIVIHS TR 7 IE 38 T Gedshi AmEae IduEd R, S et B
T JfdUTE TEe REA T TEish WHSE] Swh! e,

forr - |

AT ; WIS YR AT T femensdi yEeae ATE.

fomm © wsEmeRe e A STl s gedes AL

T« weETRE g T i s dd g AL

(1) &= (2) ==

(3y fomm (4) fa=m

Anya, Banya, Dinya and Vinya brought a story book for their classmate. The book is
with someone among them. They all know who has the book and each one makes a

statement about this. Select the person with the book if only one of them is making a
false statement.

statements ;

Anya: Idon’t have the book and Dinya also doesn’t have the book.
Banya : I don't have the book and Anya also doesn’t have the book.
Dinya: I don’t have the book and Banya also doesn’t have the book.

Vinya : I don’t have the book and Anya alsc doesn’t have the book.
(1)  Anya {(2) DBanya
(3) Dinya (4) Vinya

71.

DEAR, MEAD, WARE 371 DRWA Tt o sTezreat aieh Hehdld] S{aiea T1a 1435,
6342 9 5231 315t 3R, REAM 1dl Hehd sl

(1) 4135 (2 4235

(3) 6135 (4) 1345

The number code for three words from among DEAR, MEAD, WARE and DRWA are
listed here in a random order as 1435, 6342 and 5231. Select the code for REAM.

(1) 4135 (2 4235

(3) 6135 (4) 1345
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100 THF Skt waren feg e o SRR Uwe adl faeg fow S
geaT Sefl 3R, TAE T A 40 ChE B W9 IR, WA vaTEen e et @ aof
TR T St gl I A gEen e savearad Feeh. stA At awh 60 e 9T
Jed 30 a1 Ten T o7at FHI9varsh T IR A CHHE M| S bt e

(1) 160 (2) 140
(3) 300 (4) 200

Two scooter riders moving in opposite directions start at the same time from
opposite ends of a 100-unit-long road. Each rider moves at a speed of 40 units per
hour. At the moment they start, a fly leaves one of the riders and flies to land on the
other. If the fly travels at 60 units an hour, select the option that indicates distance
in units the fly needs to travel.

(1) 160 (2) 140
(3) 300 (4) 200

73.

T ity sy gatd Jeaev™ ard! faemyfEa s I e
AT TR A AG AT<AT ATAsH] A TEAEIS S0 |G FoaEdh 319 g e
TEAT™ 38 I Agesdl. g Hehe Mel e 91 T ATé At smuedren
Gl FHCATES A HERET 9T SUTe YA TR T M AT &,

. Saea = A @ R @iy we g e w0 savEs aR. 99
Td F) ook IeaTeA qoarll weEdT A AT T He HEE gdE 9t heurges
ATHI HER T5AN TR OIS WA 9gd w0 gshid 81d. arard) ek
ol qRuimrE faam we wEEd) Rk e afes

®.  THMR a6 g ¥ gUR B A e fhar faemeatd Idivi swa v whian wien ge
STa SIS, AT g SATTeA] TR oeh! Hi o =T e guen gig
AT SR RO F= TG WG fied sraeaes qEien syt wfan womed

3. ﬁwmmmmmaﬁm?ﬁawmﬁm@mwﬁaﬂ%
TR ST et Feft Go= FRem 36am T a3 Hihe] A geil ga1 W

Tateft I ; |

(1) s (2) manfirs

(3) 3 afr % (4) o 3mforg
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By studying all following options, select a pair that uses most closely similar

reasoning.

a. Researchers have looked at the communication between different animals and
found that meerkats have a series of alerts and calls that fall into two
categories, greetings and alarms. Since we can be sure that this meerkat is not
calling as a greeting, we must accept that he is attempting to raise the alarm.

b. Farmers must choose between using organic or non-organic fertilisers on their
land. Organic fertilisers can produce a lower crop yield and farmers may find it
difficult to change to organic methods if they have been using non-organic
methods for some time. Farmers should, therefore, consider the longer-term
impacts of their decisions.

c¢.  Either young persons are getting cleverer each year or examinations are
becoming easier for students to pass. Since there is very little evidence from 1Q
testing and other supposed benchmarks that young persons are more
intelligent now than in the past, we must conclude that the examination
system is easier for students today than it was in the past.

d. Closed wood burning chulhas are a better way to cook your food than open fire
chulhas. Closed wood burning chulhas are highly efficient, whereas the open
fire of open fire chulhas loses a great deal of heat in the air. More people
should, therefore, use closed wood burning chulhas in their homes.

Answer Options :

(1) aandb (2) bandc (3) aandc (4) bandd

74.

TR i ST HIeHen 918 ST, Wy A SHveA WeRue HNE e AR, I A
AP A= SR AR, I FfAT HOHe B3 ST ST HIuE TN . S
Tald AT 1 AEt HEEEE AT e e

(1) Toan 3 o (2) ot 3 5™ (3) Fopa S (4) S 7

Jay's cat is bigger than Amy’s cat, but is smaller than Jaini’s cat. Fija’s cat is the
same size as Venu’s cat, which is bigger than Amy’s cat, but smaller than Jay’s. If
bigger cats are faster, but smaller cats are more obedient, select from the following
list the pair of keepers who have the fastest and most obedient cats.

(1) Fija and Jaini (2) Amy and Jay

(3) Venu and Jaini : (4) Jaini and Amy

75.

e fremeaten e 2/5 et s wfer A 2/3 gefH it 90% <A A fireet.
36Wﬁmﬁ90%wmwﬁmﬁmmgﬁﬁmwﬁmwﬁﬁmm
ECIDACECH

(1) 54 (2) 81 (3) 90 (4) 135

Tn a group 2/5 of all students are girls and 2/3 of girls scored above 90% 1_ma1:ks in
Mathematics. If 36 girls have scored above 90%, then select the option that indicates

the number of students who are not girls.
(1) 54 (2) 81 (3) 90 (4) 135
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76.

RV I TRV TS W AW g IR SFEATE e v foeh gew arger
s o Fgoeh wid SmEen o 9ee swee | wEEd Rd. YS¢ ¥ SAfdT
Wmﬁmmﬁwﬁﬁ@wwam%wm
ST 91 S T

(1) ﬁmmwmmwwmmwwmw
e U e gUde SI9UeR A UEier 9iele.

AT .

(3) WWWWW%WWW@HWWW
b |Te] TTC] HelTedl SRIVSSHIsT, WesvT Wiehadis e,

(4) I grend 9 T FEia s JeigR gy aneET yees iy .

People who are closest to information technology agree with the observation that
benefits of screens as a learning tool are overblown and the risks for addiction and
stunting development seems high. Screens are said to be beyond personal control

and we situate them in pleasure centres of the developing brains. As a responsible

parent you will ...

(1)  not let your children to have cellphones until hig'h school and ban phone use

while riding a vehicle and severely limit its use at home.

(2)  not use screens and net unless extremely needed at home and set a role model

for your children.

(3) not get scared about the unknown as you grew up watching a lot of television

and allow your toddlers to play with 1-pads.

(4) study authentic researches related to this problem and benefits of screens and

take decisions judiciously.
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A

T AT TV HATesE ST YAl TFHCIT 32% W FEAeAl, 10 d 24 FAErAS FoR
9 et wiifep i TS BN e, SOedeaTEr gurd, Thrhhen, s e, dfe
FES TS ATHEIET IFEAT B TR I ST, Aalee Qe HIS, @roare
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(1) WWWWWW&WWMW

(2) v anfor anefies gmifes Famel Sorm=n gear gear fRren s frmed
g Ha fmio FvEen

(3) wen smEdE fafaw sl yewe wf s, e o SiEmdel w@en,
Safaraeaam suftt St wond Ieaed =T, 3, vl S oA IS e
w10 geaTdraTrE favre T sEgHIcRe Fddld ARl

(4) Td FEfaET, TE SEAAT AeHEclwe AT YT STHU a8 TRt
HEA Ol

It is observed that the girls and boys between age group 10 to 24, called as young

people that comprise 32% of our population, are stressed due to physical and

hormonal changes, peer pressure, loneliness, physical attraction, curiosity about sex

life, etc. Along with this things like social media, unhealthy eating habits, addiction

of various kinds, carelessness, etc. affect their physical, emotional and social health.

Many a times confusion and frustration lead them to commit suicide. Being a

responsible doctor and senior officer in the health department you will give priority

to initiate drive for....
(1) reducing legal marriage age limit of girls as well as boys.

(2) creating adolescent friendly health services in collaboration with educational

institutes and corporate social responsibility initiative.

(3) engaging young people in constructive and challenging activities such as
reducing pollutions of various kinds, adapting eco-friendly lifestyles, designing
biodegradable and energy saving products, preventing wastage of food, water

and energy, etc.

(4) assisting all stakeholders to be vigilant about the behaviour of young persons

that might lead them to commit suicide.
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aEgsh T fawmmean wingonefn weqw Fem 3gER SeaeEdt weATeral  fen
JrgarET gEe gimeronedien ey fa queel wwerhl snmeedlt. wfvened wreewen mE
i ggH fee el ausficiid WA sl e, @) AT w6 mEE qeE 30
sufor wae=n Jozen geftem goien fagomer 38 wrggvamerd a1 feaan v anfn gl wh smn
TH AT KA I e HE A wAToN AMd STl e 3H Iw WiRdel. @i
FHiES. W FEGSH HEm dreeren A8 ity arqe dJ Freset UE o e TnEan e o
FARTET. iteTonefit qraTew Arem gegvarh fdt Heft oy, el gee,

(1) T S S s H9w Jedte e Ryl o < e TR SR

YT @Y 8 e heled ITE.

(2) =Rl T Jed B o QT a8 revE wrEen g e o foen widen e oy
(3) T FTE A R HEET ST TR 9 34 Gigd 2 e Bige.

(4) 3eler EvaATHeH] ATCHIHS TEB FIV A AT S0 AT HUATE T HIH
AR T34 TS .

You are in the charge of assisting trainees of traffic control department to make
decisions related to on the spot punishment for the violations of traffic rules. While
patrolling during night vour trainee came across the car without rear lights. The
trainee ordered the driver to stop the car and conducted detailed inquiry. Driver
revealed that he is the owner of car in question and does two jobs: one during the
day and one during the early night to save money for providing quality education for
his two twin daughters and thus failed to notice the situation. He also produced all
the documents related to his elaims. The trainee ordered him to pay quite a big
amount as a fine. The driver started pleading repeatedly that he did not violate the

rule knowingly and will be careful hereafter. The trainee requests you to suggest
solution. You will suggest that,

(1) we should always fine the persons who violate the rules laid by the department
as it is our duty to maintain the order.

(2)  the person appears to be needy, therefore, ask him to pay reasonable amount
as a fine and let him go as it is his first offence.

(3) it is better to keep him in the judicial custody for some time and allow him to
go after warning. ‘

(4)  this driver has a genuine reason for this negligence so let us not make the life

difficult for him and let him go after strict warning.

P.T.O.
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You have been appointed as the head of the office that allocates funds for promoting
innovations in all walks of life by a corporate under the CSR (Corporate Social
Responsibility) scheme. You have received two proposals and as a rule you need to
select only one of these. One organization aims at assisting people for becoming
spiritual irrespective of religion, caste or creed, using innovative yoga practices. The
head of this organization is the guru of one of the influential leaders from the city
and he is pressurizing you to select her proposal. Another enterprise of young
entrepreneurs wants to develop tools for sanitation workers who maintain the city
clean on no-profit basis. With some demonstrations, the enterprise guarantees that
their tools will help workers to handle all sort of dirt without getting dirty and save
them from becoming prone to various diseases. You will,
(1) delay taking any decision as till now you have not seen spirituality playing any
positive role in eradicating corruption, injustice, and oppression that is present
in various forms.

(2) allocate funds to entrepreneurs’ group as there is an urgent need for developing
assisting tools for these people as it is their right to live a healthy and
respectful life. .

(3) get special permission from the management for dividing available funds
equally among the two applicants and keep both of them happy.

(4) allocate the funds for spiritual organization as there are many affluent
followers of this guru in the city and according to them they are doing good
activities for the benefit of wider society.

FEe] FATATS! ST { SPACE FOR ROUGH WORK



www.dompsc.com

A

80.

55 u12

memmwﬁﬁmaaﬁmma@ﬁaﬂaﬁw

gy TN R Sl TR, WIS SEHT YA A JRETe JEAT STt sEeredt

GESEINIE TAE HUETE A SN, ¥ Rl S UsAredl faum wEd agdt fieeten

i weft o Sl T anfr R W drecarees RIVTE saaRiifeeg FEaTel Shell @,

I T A Gl AT S FHY A AT . grel,

(1) €9gd Hewr S queal YEiwsra drpiEdaed 3tfus WV e 9 b
AU ST e getE RIS SO

(2) dawEm WENTh A qu qaifushid Sl wiel Fad B 7 w e wde A v
IR 9IS TEl 3 TR e

(3) N AT IS § WSIREEA Hedld wiihieAl Saft| e e g
T HTE A ABHT AT BRI AT SIREh HUAERE] IUhH FT.

(4) e gEaEEEden R AeaE wifEd) el garea el serd

Recently you are appointed as the head of a department that looks afier conserving

trees in the area and prevention of illegal transport of logs. While travelling by

public bus you chanced to hear a conversation between fellow passengers occupying

the next seats. They were praising the work of your predecessor who is now

promoted as the state-wide head of the department. According to their discussion

your predecessor was a very good person, who never took bribe and did not prosecute

persons for cutting trees in the area. He never objected to cutting trees even though

in many instances it was illegal. You would,

(1) participate in this conversation to find more about the popularity of your
predecessor and plan your strategies of work for keeping people happy.

{(2) participate in conversation and convince people that though your predecessor is
a good person he did not execute his duty properly.

(38) conduct a survey related to understanding of laws with the collaboration of

schools and colleges in the area and conduct programmes to make people aware
of importance of these laws.

(4) participate in this conversation and know more about their understanding

about laws related to cutting of trees and design your strategies of
implementing concerned laws.

HoegT FETHIS! FAT / SPACE FOR ROUGH WORK
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